1. (10 pts) For cach of the following pair of statements. circle the correct
statement :

(a) 4[4V = 47y

) JiSde = ) 4 g(a) = [ f(2) + [ gla).

() logre = 75 log:z = In(T)In(x).
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3. A bank offers 5% vyearly rate of interest.

(a) (3 pts) I deposit $1000 at the beginning of the year. The interest in
the bauk is compounded yearly. How much money do I have at the
end of 5 years 7 t
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(b) (3 pts) Now supposc the interest in the bank is compounded every 6 Hs /
months. that is. it is compounded 2 times a vear. If | deposit $1000 :
at the beginning of the year, how much will I have after 5 years 7
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(¢) (4 pts) Now supposc Tlhic mterest in the bank is compounded con-
tinuwously. If T deposit $1000 at the beginning of the year, how much
time does it take for the amount to become $3000 ?
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4. (10 pts) Consider the exponential growth function
y = Ce“.

Suppose we know that y = 5 when ¢ = 1, and y = 10 when ¢ = 2.
Compute the values of C' and k.
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5. (30 pts) Compute the following integrals.
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